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e slope

Which answers are solutions of the graph? A
a) (2,0)
b) (0.4) .
c) (2.8) .
d) (-2,0) &
e) (4,1)
{
Slope: A0 - 1 10
Y-intercept: -
\Y
Which answers are solutions of the graph?
A
a) (0.-3) R\
b) (-4,1)
c) (2,8) ¢
d) (3.1) :
e) (-8.9) :
Slope: - N\t "
Y- intercept : "




Jwo linear functions are described below. Based on the information below, which of

the following statements are true?

Function 1 has the equationy =-3x+ 5
Function 2 is aline passing threough the points {0, 5) and (5, -10)

a. Function 1 and 2 have the same slope.

b. Function 1 and 2 have the same x-infercept
¢. Function 1 and 2 have the same y-intercept
d. Function 1 and 2 represent the same lines.

1. Determine the rate of change and explain what it means.

Time | Distance
(Hours) | (Miles)
4 168
2. Write an equation in slope-intercept . 357
Form
8 336
10 420
3. What does the y-intercept represente
1. Determine the rate of change and explain A

What it means

Dough Prepared

. S in kg
2. Write an equationin

Slope-intercept form.

3. What does the y-intercept represent?

100

Amount of Dough Prepared (kg/hr)
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1. Determine the rate of change.

2. Write an equationin
Slope-intercept form.

3. What does the y-intercept represent?

Height in m

Height Above the
Ground of a Rock
Climber Over Time

50
45
40
35
30
25
20
15
10

™

™

18, 0)

2 4 6 8 10 12 14 16 1820

Time (Seconds)

Which table represents a linear function with the same slope asy = - 4x+ 5

d. 2/3; every fime 2 marbles are
put in the jar, it adds 3 grams.

a. b. .
2 - 1 ]2
x |0 [1]2]3 |4 ;1231279
v |31619 |12]15
c _ d [xT2fafo 1 ]2
x 011213 vy |10 15] 202530
v |-8] 410 |4 |8
Calculate the slope and explain what it means Weight of a Jar with
Marbles
y
a. 3 ; every time a marble is put in Iy 7
the jar, it adds 3 grams. - 140 /
£ 120 /
b. 1/3; every time 3 marbles are g 100
putin the jar, it adds 1 gram Z 8o 7/
£ 60 |/
c. 3/2; every time 3 marbles are '@ 40 /|
put in the jar, it adds 2 grams. 3 20}7
| -
0 10203040506070

Number of Marbles
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if f(x} = -2x + 2 then find f(-2) If g{x) =-x2 + 5%, then find g{-12)
If f(x) = -4x + 7 then find f (3) If f(x) = -x+4, then find f(-3)

A company makes cell phones where f{x) = 32x + 40 represents the cost to make the
phones and x represents the number of cell phones made. Which statement is
corrects

a. It costs $8 to make two cell c. It costs $320 to make ten cell
phones phones

b. It costs $200 to make five cell d. It costs $72 to make two cell
phones phones

Which of the following is a solution to the function f(x) = - % X -6

a) (-2, -5)

b) (0, -6)

c) (5, 19)

d) (-3.-4)



Which of the following is a solution to the function f(x) = 3x + 4

a) (-2, -11)

b) (0, é)

c) (6,-9)

d) (10, 34)

Which of the following is a solution to the function f(x) = -2x +1 ¢ Circle all that apply

a. (4.0) b. (3.7)

c. (0,1) d. (8,-15)

Which relations are functionse Circle all functions.
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Determine the domain and range.
{('31 -6)t ('11 '6)' (5, '6): (8, '6)}

Domain:
Range:

Is this relatfion a function¢ Explain your
reasoning.

Determine the domain and range.
{ (-2' 4)' (_21 0)1 (6, 5)' (0, '2) }

Domain:
Range:

Is this relation a functione Explain your
reasoning.




Determine the domain and range.

A
s -7
e
oot
AR
/! P
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504 .3 2 2 4
Vv
Domain:
Range:

Is this relation a function? Explain your
reasoning.

Determine the domain and range.

JAY
=
A
< >
4 -3 2 3
I o
\Y
Domain:
Range:

Is this relation a function?2 Explain your
reasoning.

Determine the domain and range.
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Domain:
Range:

Is this relation a function? Explain your
reasoning.

Determine the domain and range.

Domain:
Range:

Is this relation a function?2 Explain your
reasoning.




Determine the domain and range.

Number of Identical | Regular Cost of
Notebooks Notebooks (No
Discounts)
7 5.53
2 1.58
5 3.95
3 2.37
Domain:
Range:

Is this relation a function?2 Explain your

reasoning.

Determine the domain and range.

'A

Domain:
Range:

Is this relation a function?2 Explain your
reasoning.

Answer the following questions
about the graph below

A Rate of Soot Production (kg/hr)

-
=3

Rate of Soot

Production in kg

Hours Past 8:00 am

1. Whatis the domain and range?
Domain:

Range:

2. How much soot is the factory
producing at 122

3. Whatis a reasonable domain?

a.) -2Hours b.)7Hours c¢.) 10 Hours
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Name

Hour
Semester 1 Final Exam Study Guide
Solve for x. Solve for x.
-x + 5) = 3x + 2(x - 4) 83X - 6X + x -7 = -15x
Solve for x. Solve for x.
22X~ (8—-4x) =-18 + 2x 75=3(-6x-5)

Describe the steps in both math and writing for solving the following problem: 3x — (2 + 5x)=12
Math Written




4+ 6=1-4k-1 b —4)+8b=-88

~18 - 8n=2(-6n+5) Tp+4—-4=-124+Tp+5+7

146n+6n=—6+4n+Tn -198 = —3(—6 + 7n) - 61

The length of a rectangle is 7 cm more than twice its width. The perimeter of the rectangle is
32 cm. What are the dimensions of the rectangle?

The length of the rectangle is 6 in. more than its width. The perimeter of the rectangle is 44 in.
What are the dimensions of the rectangle?




X y
-10 3
-5 6
0 ?
5 12
10 15

Which linear equation models this table?
a. y=5/3x+9

c.y=9

b.y=3/5x+9

d. y=9x+3/5

Saif is sitting on top of a building and tosses a ball down to his friend whois on the

ground. The height, y, in feet, of the ball is a function of time, xin seconds as shownin

the table:
X Y
0 11
0.5 12
1 11
1.5 5
2 0

Which statement best describes the meaning of the y-intercept of this

function®

a
b
C.
d

. The ball is originally 11 feet above the ground.

. The ball reaches a maximum height of 11 feet.

The ball fakes 12 seconds o reach the ground.

. The ball reaches a maximum height after 12 seconds.

Graph the inequality

Y > 2x+4
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Graph the inequality

Y <-3x -4
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 solve inequalities

Solve then graph

S5x + 2 < 2x - 4

-4 > 2(-x - 8)
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9n - 8 < 12n + 4 3 < 3(x-9)
ya— —>
ya | 1 J b}
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76 > 4(1 + 6k) 80 = —4(~5 +3x)
2 I I 1 N
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